Math 001.31 Quiz # 2 Sem. I, Oct 13 , 2003

Name : ID.#: __ SER. #:
1. (a) Find the product and then simplify: (v/2 4+ v/2)(v2 + v/ v2) (3.5 pts)
: : . s 15 2
: — = ts
(b) Rationalize the denominator and simplify 718~ 16 (3 pts)

2. (a) Let P(z) and Q(z) be two polynomials of degree 5 and 3. What is the degree of
P(z) + Q(z) and P(z) - Q(x). (2 pts)

(b) Perform the indecated operations and simplify: (z —1 — 2y)3 (3 pts)



3. Factor as completely as possible:

3
(a) 32° + 122 y2 + 12y4 (3 pts)

(b) 2 462”4120+ 8 — y3 (3.5 pts)

Bonus: If x < 3, then simplify \/xz —6x+9+ \3/1‘3 — 92 4+ 272 — 27 (2 pts)



